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ON CHAMLEY’S PROBLEM OF OPTIMAL TAXATION"

Mikhail Ivanov Krastanov, Rossen Alexandrov Rozenov

We provide an example to Chamley’s problem of dynamic optimal taxation and show
that one of the key assumptions on which previous results are based is not true,
in general. We also demonstrate some cases where the problem of the consumer as
formulated in the economic literature does not have a solution.

Introduction. In an influential article Chamley [1] introduced the problem of optimal
taxation in a dynamic general equilibrium framework. He showed that if the utility
function is separable in consumption and labour, then the optimal tax on capital income
is zero in the long run. Frankel [3] considered the case of a general utility function and
claimed that the capital income tax may be positive or negative depending on whether
the sum of the elasticities of marginal utility with respect to consumption and labour
is increasing or decreasing over time (Theorem 1). In the process of derivation of their
results both Chamley and Frankel used informal arguments about the sign of the one
of the co-state variables. Also, Chamley’s proof relies essentially on another assumption
which, as Xie [5] later proved, is not necessary for optimality. So far, a satisfactory
solution to the problem has not been proposed.

In this paper we take the Chamley problem as a specific example of utility function
and show that the assumption about the sign of the co-state variable for the private
assets equation in the government’s problem is not true, in general. Moreover, following
the approach in [3]|, which is based on necessary conditions only, we demonstrate that
the problem of the agent may not have a solution.

The setup in the general case as presented in [3] is as follows. There is one representative
consumer which maximizes a utility functional subject to a differential equation describing
the dynamics of the private assets. Formally, the consumer solves:

(1) I:/O e Plule(t), 1(t))dt — max
(2) a(t) = r*(t)a(t) + w* ()I(t) — c(t)
3) a(0) = ao

(4) Jlim e Jor@dsgey > 0

Here the controls are the consumption ¢ and the labour input (hours of work). The
functions r*(¢) and w*(t) represent the after tax returns on assets and labour, respectively,
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and the consumer takes these functions as given by the government. Private assets consist
of capital k and government bonds b, i.e. a = k + b. The instantaneous utility u(c,1) is
assumed to be concave with u/ > 0 and u] < 0, and p is the time preference parameter.
Condition (4) is an additional constraint which is typically imposed by economists to
ensure that the private assets tend to a non-negative quantity as the time goes to infinity.
In other words, the agent is not allowed to end up with debt.

The government solves the following problem:
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£) + w(t)l* (t) — ¢ (t)

(7) k(t) = f(k(t),1*(t)) — c*(t) — g(t)
(8) k(0) = ko
(9) a(0) = ap.

The government has control over r and w and takes ¢* and [* as given by the solution
of consumer’s problem. Since the two optimization problems are interrelated, we are
in a situation of a dynamic game and in order to find the solution we have to adopt
an appropriate equilibrium concept. Following the literature, we look for a Stackelberg
equilibrium [2]. This means that in addition to (6) — (9), we add as an additional
constraint the co-state equation for consumer’s problem:

(10) w(t) = m(t)(p — (1)),

Proposition 1. The following assertions hold true:

(i) Let & > 0 be an arbitrary real number, c* and I* be optimal controls, and a* be
the corresponding optimal trajectory for the problem (1)—(4). Then, c¢* and I* are
optimal controls, and a*(t) + el ’“*<S>d85 is the corresponding optimal trajectory for
the problem (1)—(4), where the equality (3) is replaced by a(0) = ag + &;

(i) Let A > 0 be an arbitrary real number, ¢ and 1 be admissible controls, and a be the
corresponding trajectory for the problem (1)—(4) such that
(11) lim (e*fé’“*@)dsa(t)) =A>0.

t—o0
t

If/ r*(s)ds > pt for each t > 0, then the controls ¢ and l, and the trajectory a
0
are not optimal for the problem (1)—(4).

Proof. The proof of (i) is evident. In order to prove (ii), we consider the admissible
control (¢,1), where c=c+ «, l =1 and 0 < a < pA. Then,

B [ et +adwyit> [ e e 10 = 1

because of the properties of the utility function which is strictly increasing in ¢. The
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equality (11) is equivalent to

Jim (a0+ / e IO (4 () —c(T))dT) —A

0
Apply (4) for the trajectory a associated with the control (¢, ). Then,

t
e I r*(s)dsa(t) _ e—fot r*(s)dsa(t) - a/ e Jo r(9)ds g
0

t
lim (e* Jo T*(S)dsé(t)) = lim (ef(;5 i ()ds (1) —a/ e o T*(S)dsdr) >

t—o0 t—oo 0
tr*(s)d t «
> lim (e Jo " (dsg () — a/ e "Pdr | =A—-—>0.
t—oo 0 P
Thus, we have found control ¢ and | which give a higher value of the criterion and

satisfies all constraints stated in [3]. This completes the proof. &
2. An example with separable utility. Next, we investigate Chamley’s problem
2

for a concrete example. Let the utility function be u(e,l) = Inc — 2 and the production

function be f(k,1) = v1k + 72l for some ;3 > 0 and 72 > 0. Then, the Hamiltonian
function for the agent’s problem is

l2
Hy(e,l,a,m) =1lnc— 5 + m(ar” + w*l —¢)

and the necessary conditions are

(12) ¢t = %
(13) I = mw*,
(14) T =n(p—r").

The private assets equation and the utility function can be rewritten in terms of w and

7. The Hamiltonian for the government’s problem is
2,2

1 1
Hy(ryw,a,k,m, A\, 1, &) = —ln7r—7T +A (ar+w27r — —)—i—u (vﬂc—i-'ygww - — = g) +
T T

+&m(p—7)
and the necessary conditions are
(15) Aa —Em =0,
(16) —w*n? 4 20 AT + pmye = 0,
(17) A=Xp—r),
(18)

18 fo=p(p—"1),

: 1 A
(19) §=7°£+—+w*27r—)\w*2——2—72uw*—%.
m m m

From (15) we have that aA = 7€ and from (16), after dividing by = > 0, we obtain
that pys = w*(m — 2X). Substitute the latter in (19) and multiply both sides of the
resulting equation by m. Also, multiply both sides of (14) by & and add them. The
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resulting equation is

(20) (&) = pem + 1+ w*Ar — % - %

Follow the same procedure for the equations for ¢ and A to obtain:

(21) (aX) = paX + w*Ar — %

After taking the difference of (20) and (21) and taking into account (15), we find that
(22) ult) = m(t)

and from (14) and (18) it follows that

(23) =1,

Using Michel’s result [4], which provides a relationship between the Hamiltonian function
and the criterion when controls are optimal, we find that

—1 —2
(24) w?n? = (pmoao —1)(p —2m)
p
Since in order the integral (1) to be convergent it is necessary that p < 271, the last
expression implies that pmpag — 1 < 0. Finally, noting that the value of the Hamiltonian
for agent’s problem is equal to the one for government’s problem and using (22) and (24),

we obtain for t = 0 that
(25) Ao

_ g (y1(a0 — ko) + go)
2vi(pmoao — 1)
Thus, the sign of A9 depends on the sign of v;(ag — ko) + go. If the government starts
with sufficient savings, then the latter expression could be negative and so \q is positive
in contrast with the assertions of Chamley and Frankel.
Since the admissible velocities of the system (2) contain a neighbourhood of the origin,
Corollary 1 from [4] implies that tliinoow(t) = 0. So, p < 71, and, hence, y1t > pt for

each t > 0. Moreover, condition (i) of Proposition 1 implies the existence of a positive
number A such that

(26) Jim (e7"a*(t)) = A > 0.

Then, condition (ii) of Proposition 1 implies that the controls ¢* and I* cannot be optimal.
The obtained contradiction shows that consumer’s problem has no solution. In fact, this
is the fundamental problem with the solutions of Frankel and Chamley. Finally, note that
Chamley in [1] does not impose the condition for non-negative assets at infinity which
practically allows to increase the value of the functional indefinitely by accumulating
more and more debt.
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OTHOCHO 3AJAYATA HA YAMJIN 3A OIITUMAJIHO JAHBYHO
OBJIATAHE

Muxann Kpbcranos, Pocen Pozenos

Pazrienan e momenbr na Yamian 3a ONTHMAaJIHO JIAHBIHO ObJIaraHe W € ITOKa3aHo,
Je eJIHO OT JOIYCKAHUsITAa, BbPXY KOWTO C€ OCHOBABAT HAJUYHHUTE PE3Y/ITATU HE €
u3biHeHo. [1oapo6HO e u3/ieqBaH eIUH KOHKPETEH MIPUMED, 33 KOWTO Ca U3IIbJIHEHU
BCUYKH TIPEIIIOJOXKEHUsI OT MKOHOMUYECKATa JIUTEPATypa, HO B KOMTO 3aJadara Ha
OTpeOUTE ST HIMa, PEIlleHue.
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